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EXAM  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2Fp 

3Fp 

A 

B 

C 

D 

3Mp 

3Mp 

Mp 

Mp 

E 

a a 

a 

a 

a 

a 

a 

a 

a a 

R.C.
(CD)

 

δθ 

δθ 

δθ 

2
3 δθ 

R.C.
(DE)

 

δθ δθ 

4δθ 

δθ δθ 

δθ 

2δθ 



Ir J.W. Welleman        page 2 

Mechanism 1 
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Mechanism 2 

 

 

 
2Fp 

3Fp 

A 

B 

C 

D 

3Mp 

3Mp 

Mp 

Mp 

E 

a a 

a 

a 

a 

A 

B 

C 

D 

3Mp 
Mp 

Mp 

R.C.
(DE)

 

a 

a 

a 

a 

a 

δθ 

δθ 

4δθ 

Mp 

3Mp 

2Fp 

3Fp 

δθ 



Ir J.W. Welleman        page 4 

Mechanism 3 
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Virtual work 
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MOMENT DISTRIBUTION MECHANISM 1  

 
 

 

 

Find the moment at E ? 

 

1 Horizontale reaction at A: 
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2 Sum of moments part BE around E: 
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